3.SINIF PROBLEM KITAPCIGI 1 - CEVAP ANAHTARI
Cevap001= 6; Cevap002=170; Cevap003=30; Cevap004=420; Cevap005=152;
Cevap006= 3; Cevap007=826; Cevap008=14; Cevap009=639; Cevap010= 2;
Cevap011=634; Cevap012= 6; Cevap013=59; Cevap014=571; Cevap015=180;
Cevap016=16; Cevap017=20; Cevap018= 4; Cevap019=130; Cevap020= 2;
Cevap021=36; Cevap022=305; Cevap023=476; Cevap024=935; Cevap025=30;
Cevap026=21; Cevap027=257; Cevap028=25; Cevap029=552; Cevap030= 38;
Cevap031=277; Cevap032=21; Cevap033=195; Cevap034=60; Cevap035=60;
Cevap036=68; Cevap037=90; Cevap038=11; Cevap039=154; Cevap040=75;
Cevap041=42; Cevap042=232; Cevap043=529; Cevap044=20; Cevap045=630;

Cevap046=216; Cevap047=812; Cevap048= 1; Cevap049=90; Cevap050=235;



